
ECF JUNIOR TEAM FINAL 
Hertford College, Oxford, 23rd April 2019 

Chess Problems to solve 
 
Name…………………………………………………………………….. 
School……………………………………………………………………. 
 

1) 

wdwdwdrd 
dw!wdPdw 
wdwdwiwd 
dwdwdPdw 
wdwdwIwd 
dwdwdwdw 
wdwdwdwd 
dwdwdwdw 

White to play and mate in one 
move. Give that move. 

Mate in 1            (4 + 2) 
 

 

 

2) 

wdwdwdwd 
dwdwdwdw 
wdw$pdwd 
dPdwiwdw 
wdwHpdwd 
dwGwdwdw 
wdwdwdwd 
dwdwdRIw 

White to play and mate in one 
move. Give that move. 

Mate in 1            (6 + 3) 
 

 

 

3) 

bdwdwdQd 
dwdwdwdp 
wdwdwHw0 
dwhpdkdK 
wdwGw0wd 
dw)wdpdw 
wdwdrhwd 
dwdwdwdw 

White to play and mate in 
two moves. Give White’s first 
move only. 

Mate in 2          (5 + 10) 
 

4) 

wdwdwdwd 
dQdpdwdw 
wdwdp0wd 
$w0wiw0R 
wdwdwdwd 
dwdwIwdw 
wdwdwdwd 
dwdwdwdw 

White to play and mate in 
two moves. Give White’s first 
move only. 

Mate in 2            (4 + 6) 
 

 

 

5) 

wIBdwdwd 
dwdwdwdp 
wdwdw0rd 
dwdwdNiw 
wdwdwdpd 
dwdwdwdw 
wdwdwdw! 
dwdwdwdw 

White to play and mate in 
three moves. Give White’s 
first move and all moves, 
both black and white, up to 
White’s second move in each 
variation. 

Mate in 3            (4 + 5) 
 

 

 

6) 

wdwiw4wd 
dPdp0Pdw 
N0wdwdrd 
dwdwdwdw 
wdPdwdwd 
!wdwdwdw 
KdwdwGwg 
dwdwdwdw 

White to play and mate in 
three moves. Give White’s 
first move and all moves, 
both black and white, up to 
White’s second move in each 
variation. 

Mate in 3            (7 + 7) 
 


